ok S40] k9] 2ol BAgle] I HBY . xy 9] e Fotolet,

(2k+3)x+ Bk—1)y+5k—-9=0

kol tiste] Wz = A std
(2x+3y+5)k+ (3x—y-9)=0
o|AL kol tigt FSAlolEr
2x+3y+5=0

3x—-y—-9=0

AYLHAS EH =2, y=-3
L xy=2x(-3)=-6




oA ax® + bx? -4 7F X2 + x - 22 Upo] Holx &
o, a2} b o] HE -5HH?

@ 1 @ 2 @3 @ 4 ® 5

Jpu
&

S
o
o

B

ax® +bx* -4 = (x> +x-2)0(x

— (x=1)(x+2)0(x)
PR x 1,5 = -2 & 217} It
a+b-4=0,-8a+4b-4=0
= A8 Agdeto] Eda=1, b=3
L ab=3

ax® +bx? -4 = (x> + x - 2)(ax + 2)
S-S A7Nsto] A4-E B sHH
a=1,b=3 . ab=3




3.

xO] TeE AALA] B 4 ma? onx+ 18 x— 12 UReR Uirofgoja] 3,
x+ 22 Uel U 27k 3olek. of o, m—n o] G2

O -2 @ -3 ® -4 @ 2 ®)4

B

o] x = 15 3ot
l+m+n+1=0
m+n=-2---0
ol x — 2. sl
—8+4dm-2n+1=3
L2m-n=5---©

Q, O m=1,n=-3

m-—n=4




x off ik oF4] f(x) E %2 -3x+2 2 YIS o] UM R|7} x 44
o|i, x* —4x+3 02 U o UHA|7F 2x+ 3 L W, f(x) E
x3 = 6x? + 11x - 6 22 WS wj o] YA & R(x) 2 stf. ofwf
R(10) 9] 7127

@ss @5 0w @9  Gwu

fx) =(x-1)(x-2)0(x) + x+4
~f(1)=5f(2)=6---Q
fx) =(x—1)(x—3)P(x) +2x+3
o f(1) =5, £(8) = 9-+-©
fx) = (x=1)(x = 2)(x - 3)Z(x) + R(x)
R(x) =ax* + bx+c---©

Q, OF ©°l Zr7ZF i YdstH,
at+b+c=5,4a+2b+c=6, 9a+3b+c=9
AL Ast] B, a=1, b=-2, c=6

R(x)=x*-2x+6
- R(10) = 86




5.

(1—x=x*)? =ap +aix+ asx® + -+ + aggx®® + azox®° 0|2t & o,

ap +az +ag + -+ + aso 2 T2

@0 @ 1 @ 224 @ 225 @ 250

B ‘
(1-x-x%)? =ag+ayx +azx® + - + asox™®

x =12 S| tjdstH

—-1=ag+ a1 +a2+~--|—a50---®

x=-15& FHof tidstA

l=ay—a1 +a2—a3+---—a4g+a5o---®

O+ @: 2(ag +az+as+---+as) =0
apg+as+as+ .. +aso=0




